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3HQHOLWLDQ� LQL� EHUWXMXDQ� XQWXN� �� ��� 8QWXN� PHOLKDW� SHQJDUXK QHJDWLI
SHQJJXQDDQ�PHGLD� VRVLDO� WHUKDGDS�PRWLYDVL� EHODMDU� GLJLWDO� QDWLYH� ����8QWXN�
PHOLKDW�SHQJDUXK SRVLWLI SHQJJXQDDQ�VXPEHU�EHODMDU�GLJLWDO�WHUKDGDS�PRWLYDVL�
EHODMDU�GLJLWDO�QDWLYH� ����8QWXN�PHOLKDW�SHQJDUXK SRVLWLI SHQJJXQDDQ�PHGLD�
VRVLDO�WHUKDGDS�KDVLO�EHODMDU�GLJLWDO�QDWLYH� ����8QWXN�PHOLKDW�SHQJDUXK SRVLWLI
VXPEHU�EHODMDU�GLJLWDO�WHUKDGDS�KDVLO�EHODMDU�GLJLWDO�QDWLYH� ����8QWXN�PHOLKDW�
SHQJDUXK SRVLWLI PRWLYDVL�EHODMDU�VLVZD�WHUKDGDS�KDVLO�EHODMDU�GLJLWDO�QDWLYH�

-HQLV� SHQHOLWLDQ� LQL� DGDODK� GHVNULSWLI� DVRVLDWLI�� 3HQHOLWLDQ� GHVNULSWLI�
DGDODK� SHQHOLWLDQ� \DQJ� PHQJJDPEDUNDQ� DWDX� PHQMHODVNDQ� VHVXDWX� WHQWDQJ�
KXEXQJDQ� GDQ� SHQJDUXK� DQWDU� YDULDEHO� VHEDJDLPDQD� DGDQ\D�� 6HGDQJNDQ�
SHQHOLWLDQ� DVRVLDWLI� DGDODK� SHQHOLWLDQ� \DQJ� PHQFDUL� KXEXQJDQ� DQWDUD� VXDWX�
YDULDEHO�GHQJDQ�YDULDEHO�ODLQQ\D��3RSXODVL�SHQHOLWLDQ�LQL�DGDODK�.HODV�;,� ,36
GL� 60$1� �� 3DLQDQ�� 6DPSHO� \DQJ� GLJXQDNDQ� GDODP� SHQHOLWLDQ� LQL� GLSHUROHK�
GHQJDQ� WRWDO� VDPSOLQJ� ��� RUDQJ�� 'DUL� KDVLO� SHQHOLWLDQ� GLGDSDWNDQ� ����
3HQJJXQDDQ� PHGLD� VRVLDO PHPEHULNDQ SHQJDUXK� QHJDWLI� WHUKDGDS� PRWLYDVL�
EHODMDU������6XPEHU�EHODMDU�GLJLWDO PHPLOLNL�SHQJDUXK�SRVLWLI�\DQJ� VLJQLILNDQ�
WHUKDGDS�PRWLYDVL�EHODMDU������3HQJJXQDDQ�PHGLD�VRVLDO�PHPEHULNDQ�SHQJDUXK�
SRVLWLI� WHUKDGDS� KDVLO� EHODMDU� VLVZD� GLJLWDO� QDWLYH�� ���� 6XPEHU� EHODMDU� GLJLWDO�
PHPEHULNDQ� SHQJDUXK� SRVLWLI� WHUKDGDS� KDVLO� EHODMDU� VLVZD� GLJLWDO� QDWLYH� ����
0RWLYDVL� EHODMDU� PHPLOLNL� SHQJDUXK� SRVLWLI� WHUKDGDS� KDVLO� EHODMDU� GLJLWDO�
QDWLYH GL�60$1�� 3DLQDQ��
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